
Stationary measure M = (Mc , -- ,Mr) if MC

hasa states : u
after transiting

for one step
remains the same

eignector corresponding to eigual
of P

Such stat meas always exists as long as IXnl
has a recurrent state X (Kolmogoror's cycle

trick)
excursionPx(y)Px(Xn=y ,Exit

-See -
Tx

Stat dist : a normalized version of stat meas. M

Mi
Ti =

M

such that components sum

up
to 1 and

are non-negative
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: (6 . 4. 11) A

-
D RW on graph , Xo =A-Ia

-

-E-
(a) : FindIETA

.
Th is first hitting

ex

A time to A

cept time o

Pi Mean recurrence time-> stat dist

By symmetricity , NA= His= ID =TE

So : T = (a , a ,
1-4a , a , a) with acto ,i]

By def, ITc= TA
- Pac + B

. PBc+ Tb . Pac +HE- PEc
1-4a = 2a, it

M= (5 ,
5
,
5
,
5

,
5)

lEATA= = 15

(b) : Find expected # of visits to D before

returning to A.

E : Consider PA)D)= 1PA(X=D, TA >n) as stat

meas . (souce all states recurrent).

By uniqueness of
stat meas for ined pos recurrent

Markov Cham, ITD=










